
12.4 . 1 : Th , Tz are stp times writ . (5) , show that
=

Ti +Tz , max(Ti , Th7 ,
minSTI

, T2) are sep times .

Def of stopping time
: Fn, En or En, /Tiniqu

H
one can determine if the stopping
criterion is met at timea based
on all information up to time n.

:
n , STitTz = n) = ST1 = K , Tz=n-k]

k=P

since (T1=k]EEKE4u , (Tz=n-k] En-kEEn
,

ST1 =K , Tz=n-k]@en for YKE10 , 1.
- .. n) so the

Union is still in In. ~

n , (maxST ,TrinT = STien , ThEn] Eur

↓m , Sminst , Thi > n7 = ST. m
,
Tz>n]

I sui = STienTeen .
ITignT = ITzanide Pu

so STi >n ,TzIniten ~












